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Question Stimulus

Option 

No. Option Text

A hacksaw blade cuts on the ____________ 1 Forward stroke

2 Return stroke

3
Both forward and 

return stroke

4

Cutting depends 

upon the direction 

of force

Identify the machine shown in the figure below.

1 Pillar drill machine

2 Bench Drill machine

3 Hand Drill Machine

4 None of these

Which of the following is not a feature of the computer ? 1 Speed

Which of the following is not a feature of the computer ? 2 Storage

Which of the following is not a feature of the computer ? 3 Economy

Which of the following is not a feature of the computer ? 4 Reliability

Computers are classified as palmtop, laptop, desktop and work station 

based on ___________.
1 operating system

Computers are classified as palmtop, laptop, desktop and work station 

based on ___________.
2 year of evolution

Computers are classified as palmtop, laptop, desktop and work station 

based on ___________.
3 name of inventor

Computers are classified as palmtop, laptop, desktop and work station 

based on ___________.
4 mode of use
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